K120a Vocabulary 1-2 Exercise

smrt
Review the words.
adapt thick blubber deep migrate
hibernate snowbank float avoid survive

A. Put the words in the correct order to make a sentence.

1.

quickly

cat

The

adapt

will

Answer:

has

thick

He

beard

Answer:
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3.
Whales have
blubber .
of a lot
Answer:
4.
quite .
The is
lake deep
Answer:
5.
migrate to
Birds .
the south

Answer:
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6.
. hibernate
in the
Animals winter
Answer:
7.
snowbank Look
at |
this
Answer:
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9.
junk eating
: food
avoid I
10.
Your survive
will dog
Answer:
B. Match the picture to the definition/word.
deep hibernate snowbank float avoid
blubber migrate adapt survive thick
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Py

my

10
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C. Unscramble the letters to make the word.

smrt

datpa

thcki

rublbbe

idvoa

ieruvvs

nnskobaw

pede

gitrmea

ebreathin

tcikh

D. Type or write each word 3 times.

hibernate

deep

blubber

adapt

float

thick

migrate

avoid

survive

snowbank

E. Write your own sentence for each word. (open)

snowbank
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migrate

hibernate

avoid

blubber

adapt

deep

survive

float

thick

Sentence structures you can use.

I see

I can see

This is a/an

That is a/an

I like

I don’t like




